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Fill in the blanks below to complete the sentence.
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Express the following sentence as an equation.
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Express the following equation in sentences.
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Which of the following numbers is the solution to the equation?
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Whlch of the following numbers is the solution to the equation?
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Fill in the blanks below to complete the sentence. Express the relationship between the following quantities as a linear equation.
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Solve the following linear equation. Solve the following linear equation.
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D 2(x—1)=6 D 3(x—1)=6
5x =614
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Solve the following linear equation.
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3xt3=6323
x —2 9x=2x+6
@ 3x=—x—8 @ bhx=—2x— 12 9xX 22X =6
3x £x=-8 Tx =0
4 x =—¢




wh LI T LE RSN

B _Vrio M8
32| -Rhkd 2 B8 L JEC B )& )
oF Wh L g5 T L& L oF Wh L 15 T L& 5
1. RO—WRIEFBRAEME RS0, 3. WO—WHEBKXEME7230,
Solve the following linear equation. Solve the following linear equation.
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D 3(x+1)=09 D 2(x+3)=8
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Solve the following linear equation.
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Solve the following linear equation. Solve the following linear equation.
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4x=123
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x =3
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Solve the following linear equation. 3XX +3x(—1)=4x
:hb\?‘:"ﬁ 'é;/u?‘:"ﬁ
15 i Sy
DO 5x=2x+6 O 5x=3x+ 8
5X—2X =6 3x —4x =3
3 X = —x =3
3x t3=6323
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X 3Xx X 2x
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DO x+x+x O x+x+x+x UL W
- D 5x=0 x=0%5 DO —4x=0
= 3 x
x= 0
® 3x —«x =3-Dx |® 4x —x
B @ 4x=-24 x=-24+4 |@ Tx=—28
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@ 3x + x =@3+nDx |® 4x+ x
= 4 x ® 4x =10 x=10+4 |[@® 6x=29
@ —x (-1 @ —4x +(—4) = ;—02%
- —x = x
@ 3x+7=25 @ 4x+1=25
X 3X =257
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2. Yk@it@ {E %;k&) J:o Find the values of the following expressions. 3 x = 78
X =18+ 3
nn e LA
HEO Tx=40& X MED x=20L %) x = 6
Dx+4=4+4= ¢ (Hx + 2
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nn En bA WD
BIEO [x=00D& X MES® x=00L x)
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Solve the following linear equations. 3 ’* 0
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O x+2=0 x=0—2 | x+4=0
r= © 3x—4=4x—2 © 5hx—9=6x—1
3X —4X=—-2+4
® x—2=0 =042 ® x—2=0 L 4
x = 2 X =4(D
x = —4
@ x+5=1 x=1-5 |@® x+7=2
x = —4
W 2x —1=4x+ 4 W 2x—6=5x+14
2X —4X=4+1
@ x+3=—2 x=-2-3 @ x—4=-3 e
r= 0 X =532
®x—3=-2 x=-243 |® x — 5 =—2 x:*%
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